13. Manufacturing: In a factory with antiquated machinery and employee could produce
25 items an hour. After the factory updated its equipment with state-of-the-art machines
the same employee could produce 350 items in an hour. This is an improvement of 325
items an hour. By what percent did production increased with the new state-of-the-art
machines? (Hint: Divide the improvement of produce items by the number of items

produced on the old machine.)

Reminder : The Exercises I did came from my old notebooks.I want help you review yourself to
further your knowledge.I created this my old homeworks and reviewers in my own mobile
phone.I don't have a laptop or computer but I can do everything you can review for yourself

Jjust by using an android mobile phone.
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